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5.85 x30% =

7.01 x90% =

4.99 x 80% =

7.92 x 60% =

8.46 < 60% =

6.9 X 30% =

8.03 x 80% =

7.53 x90% =

6.59 x 40% =

8.45 x 10% =

7.73 x 80% =

6.23 x 50% =

1.9 x 50% =

9.59 x30% =

3.02 x 90% =

1.23 x 40% =

1.18 x 10% =

9.79 x 40% =

3.43 x90% =

8.55 X 90% =
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5.85 x30% = 1.755

7.01 x 90% = 6.309

4.99 x 80% = 3.992

7.92 x 60% = 4.752

8.46 < 60% = 5.076

6.9 x 30% = 2.07

8.03 x 80% = 6.424

7.53 x90% = 6.777

6.59 x 40% = 2.636

8.45 x 10% = 0.845

7.73 x 80% = 6.184

6.23 x 50% = 3.115

1.9 x50% = 0.95

9.59 x30% = 2.877

3.02 x90% = 2.718

1.23 x 40% = 0.492

1.18 x 10% = 0.118

9.79 x40% = 3.916

3.43 x 90% = 3.087

8.55 X 90% = 7.695
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